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ECONOMICS
( Honours Elective )
Paper : ECO-HE-6016
( Environmental Economics )
Full Marks: 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
waTo A 2PRIeq Tae o

fa) Define ecology.

“ifTeTema g R |

(b) Give an example of renewable resource.

RIS SFarg g1 vl i |
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(2)

What is market failure?
ERI Reere 7

Mention one feature of public good.

Define property right.
i SRR i fha |

Mention one cause of water pollution.

ol AFIR GO IR TCEY 0|

What is green accounting?

oiew 9191 1 2

What is weak sustainability?
731 3Tl 2

In which year was the Paris Agreement
on climate change held?

@Hmmmemcﬁgﬁ
sofifre ¢ ?

( Continued )

(3)

() What is meant by common property
resource? o
A oif 7ot gferee R e ?

2. Answer the foﬂovving quest:iai;i‘é 2x5=10

oY 2R ey fopr:

(a) Define resource économics.
ok YIS e i |

(b)) Mention two economic functions of
environment.
ARCEPR 1 Ao R St o0 |

(c) Write two limitations of pollution tax as
an instrument to reduce pollution.
AT IPT IR e e AW I P
S o | |

(d) What is ‘Tragedy of Commons’?

24A/483
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(e)

3. Answer any four of the following questions :

(4)

Mention two ways in which biodiversity
loss may occur.

reAfaR SRAS T R B IR S
1

5x4=20

<@ﬁazumaﬁa13<ﬁﬂ6ﬂ5ﬁﬁﬁ<ﬁwm:ﬁwu:~;r

(a)

(b)

(c)

(d)

24A/483

Distinguish ~ between environmental
economics and ecological economics.

sfife wF REElE SR
e e e F0

Explain the important characteristics of
property right.

Soo(fq SRFRT T CINEPTR IR 1 |
Distinguish between strong sustain-
ability and weak sustainability.

7 el SIF T TXAFIOR Aes A
ofiefqy ford |

Explain market-based instruments of
environmental policy.

WWWWWW|

( Continued )
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(§)

.(e) Discuss the evil effects, of climate
change. ot

— e S L]

() Briefly discuss the nature and scope of
environmental economics.

R AR o wE AR T
HEADAT FAT |

4. Answer any four of the following questions :
10%x4=40

T 2PIERA R R BifReR e o

(a) Explain the various types of pollutions.

RS o oo I |

(p) What are the main obstacles of
sustainable development?  Explain
briefly the main indicators  of
sustainable development.

wmammwﬁﬁs?w
TR XS TR SR @ W=
[P I
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(6 ) (7)
o (h) Explain the impact of ozone layer:
(c) Critically discuss the command and depletion on human and plant life.
control approach as a policy of pollution
control. ) TE IIF SR Qi $oRS o I TR
ESIERETIRHIE S

2 e m%mﬂmwﬁq@q

ST B TGP ST SISRCGHRT |
* k *

(d) What is global warming? Discuss the
effects of global warming. ‘
e Twe R o TyeRr deRR
e 91 |

or

(e) Discuss the various causes of market
failure in case of environmental goods.

ARET-STR T TR (A T0R Reeor fifen
FRPTR A 39 |

() Critically explain the Coase theorem.
(PRI OGB! FACAbAPTZ 1M 37 |

(g9 What is transboundary  pollution?
Suggest some policies to combat trans-

boundary pollution.

Cicre ik AR B @3 AR{ ;I ﬁ?@ﬂ
MAoore g *Fed
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ECONOMICS
( Honoufs Electivé )
Paper : ECO-HE-6026
( International Economics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the guestions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
©oq PPTIRY Teq f

(a) What is international trade?

HReIBE q1fes &2

(b) What is inter-regional trade?

ey ey 92
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(c) Write one assumption of Ricardian
theory of comparative cost.

RPa QAR T O o7 e o

(d) Mention one essential element of
Heckscher-Ohlin theory of inter-
national trade.

cER-R wRAlN AN wghE <

(e) What is Leontief paradox?
frefbws AT 2

() Define multinational enterprise.
TeEfde S e R |

(g). Mention one merit of free trade.
I& WA @1 Ry TeErs 740

(h) What is ﬁrotectibnism?
HIHAN 32

(i) Define flexible exchange rate.

e RITw e s fan

() What is foreign exchange market?
e Rt wwr R0

2. Answer the following questions :

{ Continued ) 24A/484

(3)

o fan e e

(a): . Mention two differences between inter-
regional and international trade.
911

(b) Write two assumptions of Heckscher-
Ohlin theory of international trade.

AR SRRy e SRR
wfSyReT SrEy 39

(c) What is international product cycle
theory?
REEeF Beeqma 5 ogent 2

({d) Mention two causes for the downfall of
Bretton Woods system.

G5 Bgb R 1O 1 TR BCE |

(e) What is financial globalization.
R e &2

2x5=10
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3. Answer any four of the following questions :
5x%4=20

o oI R @I BIReR ey fam -

(a) What are the reasons for international
trade? Explain.
e ISR FRIER 2 T <1 1

(b) Discuss the importance of Ricardian
theory of comparative cost in developmg
countries.

Wﬁlﬂmﬁmmmm
GFY ST A1

(c) Briefly explain the localization theory of
international trade.

wEEfee AR AT Ol ST
A 941 |

(d) Distinguish between free trade and
protection.

7o A WF Ao I oo A4
fdfg 1|

(e) Distinguish between fixed and flexible
exchange rate.

o % AT RN 9 T N1 By |

{ Continued )

(5)

() Distinguish between tariff barriers and
non-tariff barriers.
T RIS IR AT AT TS A1
g =)

4. Answer any four of the following questions :
10x4=40

TR 2R R e SRR T i

(@) Explain the Ricardian comparative cost
theory of international trade. 10

Reris wma@n AfteR germrEe I/ O
SO 94 1

(b) Discuss the superiority of Heckscher-
Ohlin theory over Ricardian theory of
international trade. Mention the
limitations of Heckscher-Ohlin theory.

S+5=10
Rera wEifer e ogels R-S'fow
CEOR CPEl WEm WM RS

TGHR SiRRerRz TEe 41 |

(c) State and explain the technological gap
model of international trade. 10

e R dfeRmn e o T
91 S M
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. . th (h) Discuss the main reasons for the
(d Cn_tlcaily ) dlscus.s e product-cycle international financial crisis. What are
theory of international trade. 10 the various effects of international
uEEis  IMER T e Ol financial crisis? 5+5=10
TRICTTARLTF O STl 31 | T R8T TR T IRPAZ A
' 1 wEEee R8T Ity Rftn geremz
fe) Compare the effectiveness of tariff - R
" and quota as a weapon of trade
restrictions. 10 Kk k
M PR wRen Rord ve 9 R[N T
R TR IS g 0 4

() Analyze the effects of tariffs in a partial
equilibrium system. 10

P ST IR B O e 4

(g How was equilibrium exchange rate ;
determined under gold standard? !
Mention the reasons for the collapse of
the gold standard. 5+5=10

fge o PR RRW |/ @ema

fAfRe R A I TSN IRPIR
Tay 91
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